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S : subset( )22 EZO0| setosa®l £Z C|0|HE X2
(data, 507H)§FEP. ifelse( ) 48 0|825t0 24zl 20[7t

SYYURCHE FR 1, ofHH 09| S A= MER2 ES
e 51 (data$value) & Z7H(data$value= numeric ) SHC}
A : subset( )92 EZ0| setosa®l 22 C|O[E{Z & mean(data$Sepal. Length[data$value= =1]) 2 O|235t0{ &
(data, S07)BICE. ifelse() B4S 0183101 2ary Zojyp  |(5.313636)S St O] 22 2 HOIE0 Chst Bzt
ZUZECHR A2 1, OJLT 09] 242 2= 2L &2 (5.0006) 1} B|5t0] =2 gf2 7RICH= AE & 4+ ULt

(data$value) 2 27150} mean( )2 O|8510] B (5.1)2 [8HH, ifelse( ) B4 0|8 A| 2

=22 ot Yt 2 3
£35Sk, 0] k2 2= C|O|E{of ciet a2k (5. 006) 2t TRUE, OfL® FALSEQ| ¢}2 Z= 4% 2 A4 (data$value
Blu5t0 =2 ¢S 7IRItk= A8 &+ AN logical H4) 5t 2R WRe

mean (data$Sepal. Length[data$value] ) © 2 X|&5t0{ 71&
+ daa < subas(iris, Species — scvesa? ALE,

> head(data)
Sepal. ].eng:h Sepal.Width Petal. Lenq:n Petal. Wldch Species

3 3.5 4 0.2 setosa
2 4.9 3.0 1.4 0.2 setosa
3 4.7 5.2 1.3 0.2 setosa > data <- subset (iris, Species == "setosa”)
4 4.6 3.1 1.5 9.2 sctosa nead (data)
5 5.0 3.6 1.4 0.2 setosa Sepal.Length Sepal.Widsh Petal.length Petal.Widsh Species
€ 5.4 3.9 1.7 0.4 setosa 1 51 3. 1 0.2 setoss
> dim|data) 2 4.9 3.0 1.4 0.2 setosa
[1] so s 3 4.7 3.2 1.3 0.2 sevosa
> sumnary(data) 4 4.6 3.1 1.5 0.2 setosa
Sepal.length  Sepal.Width Petal Tength Species 5 5.0 a6 1 0.2 setose
.300 Min. 000 setosa 50 . P o 1 0.2 seross
-800 -400 versicolor: o . aim(daca)
-000 -s500 virginica : 0 s s
e 7ide summary (data)
by ] Sepal.length  Sepal.Width Petal.lengtn  Petal.Width species
000, = min. 300 Min.  :1.000  Min. setosa 150
1st ou 1st Qu.:1.400 1st Qu. versicolor: 0
S atskes L mgthiciasd - Eeaatad 1.0 Median Median :1.500  Median virginica : 0
£l Hean Hean 262 Mean
Sepal.l.engl:n Sepal.Width Petal.Length Petal.Width Species value Sea 0u fra O 7e sea ou
1 3.5 4 0.2 setosa 1 tax Py 200 tam
2 is 3.0 1.4 0.2 setosa 0
3 i ShES b 0.2 acena o - datagvalue <- ifelse(data$Sepal.length > median(data$Sepal.length), 1, 0)
4 4.6 3.1 1.5 0.2 setosa 0 S
2 e e e 9ed oo o Sepal.length Sepal.Width Petal.length Petal.Width Species value
€ 5.4 5.0 1.7 0.4 oetosa 1 5
1 3 1.4 0.2 setosa 1
2 Sum{dSTasvalis) 2 5.0 1.4 0.z setosa 0
ez 3 3.2 0.2 setosa 0
i . . 4 3.1 9.2 setosa 9
> mesn(dasadSepal Lengtt [desagvalucl) 5 e 02 setoss o
el & 3.9 0.4 setosa 1
- - i dasas e
Sepal.length  Sepal.Width Fetal.tengin B2
5 '233 > class (datasvalue)
s [1] "numersct
o > mean (data$sepal.Lengthdatadval )
g (1] 5.313636
:1.500
> datasvalue <- ifelse(data$Sepal.length > median (dataSSepal.length), TRUE, FALSE)
. class (datasvalue)
[1] "logical"
- mean (datagSepal.Length[datagvalue])
[1] 5.313636
> summary (data)
Sepal.length Petal.length  Petal.Wideh Species value
min.  :4.300 win.  :1.000 setosa @50 Mode
1st 2.200 versicolor: 0 FALS

Median
Mean

3rd Qu
Max.  :5.800

virginica : 0 TRUE
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HE : -10.08403

84 : order() &4E O|&3t] Solar. R =2 W&t

YE5I1L 80%2| CIOIHE Attt Bt Z.ASE ChA5H7|

2% (median_before = 39) 2 ot it (49. 16807) S

BEUCZ Ui (ifelse( ) B4 Olﬁ)@ = %7*(49 08403)

= T (B U A SYLh) - (BRU A = LY |y

) =39 - 49,08403= -10, 084030|C}, 88 -10.65217

ordacs scqalequiiiaientibei-afoonsTlryiSRias 1Y 34 : order() &4Z 0|23t0f Solar. R S-S L2t

7 P sene. Solax R Hind Temp Honch Day Y L5t 80%2| BIO|EE Ayttt B2 th|sty| M
£ omo owmue o wo oo S Y2k (median_before=37) S T3t Yt (47.65217)2

i om o smals 7 s 15 ZEUSZ Ui (ifelse( ) B4 018) 8t = SYL(47.65217)
e I . [2TRICL (HRZ O A EYZD) - (IO £ EYZ

1.00 Min. : 7.0 Min.
18.00 1st Qu.:115.8 1st Qu
31.50 Median :205.0 Median

1.700
7.400
9.700

e |= 37 -47.65217 = -10.652170|C},

Median :7.000

> data <- rder (-

42.13 Mean :185.9 Mean : 9.958 Mean 6.993 N ‘EEd(dEEE)
63.25 3rd Qu.:258.8 3rd Qu.:11.500 3rd Qu.:8.000 Ozone Solar.R Wind Temp Month Day
Max. :168.00 Max. :334.0 Max. :20.700 Max.  :9.000 6 11 3391 e 5 16
NA's  :7 35 W 32138 80 6 1%
41 3 sails 87 6 10
15 30 s2z11s e 5 13
3 W szins 78 6 1S
22 1 o166 T3 s 22
> summary (data)
ozone Sc1az.® wiad Temp
Min. & 1.00 MEm. 5 7.0 Mim.  1.700 an. o
st Qu.: 18.00  1st Qu.i115.8  lst Qu.: 7.400  lst Qu. s
Mediam : 31.50 Mediam :205.0 Mediam : 5.700  Median s
> data <- data[l:nrow(data)*0.8,] Mean i 42.13 Mean  :185.8  Mean : 5.558 Mean 8
> summary (data) 3zd Qu.: €3.25 3rd Qu.:258.8 3rd Qu.:11.500 3rd Qu. .0
Ozone Solar.R Wind Temp Max. :168.00 Max. :334.0 Max. 120,700 Max. .0
Min. : 6.00 Min. : 78.0 Min. : 2.300 Min. :57.00 MA's 37 NA's  :7
1st Qu.: 22.00 1st Qu.:167.0 1st Qu.: 7.400 1st Qu.:75.00 e e ey ios
Median : 39.00 Median :224.5 Median : 9.700 Median :81.00 T wi(data) #0.8),
Mean : 49.17 Mean :1214.7 Mean : 9.676 Mean :179.75 1] 122 €
3rd Qu.: 73.00 3rd Qu.:264.0 3rd Qu.:11.500 3rd Qu.:86.00 3rd Qu.:8.000 . summary (data)
Max. :168.00 Max. :334.0 Max. :20.700 Max. :97.00 Max. :9.000 ©zone Selaz.® Wind
' 193 Min.  : .00 Mim.  :78.0 mn.  : 2.300
- 1st Qu.: 21.00  1sc Qu.:les.o  lst Qu.: 7.400
) Y Median : 37.00 Median :224.5  Median : 9.700
Min. ¢ 1.00 Mean * 47.65 Mean :214.9 Mean : 9.765
1st Qu.: 7.00 Srd Qu.: 71.50  3ra Qu.:264.0 3ra Ou.:ll.s00
Median :15.00 Max. :168.00 Max. :334.0 Max. 120.700
Mean  :15.25 nas :30
3rd Qu.:24.00 : ~
i > median_before <- median(data$Ozone, ma.rm = TRUE)
Max. :31.00 Cperore
> median_before <- median(data$Ozone, na.rm = TRUE) >
> median_before . mean <- mesn (dstasOzons, na.rm = TRUE)
1) ss
>
> mean <- mean(data$Ozone, na.rm = TRUE) one), mean, dat
> mean Wind Temp Day
[1] 49.16807 Min. : 6.00 Min. : 78.0 Min. : 2.300 Min. :57.00 Min. : 1.00
lst Qu.: 24.75  lst Qu.:169.0  1st Qu.: 7.400  lst Gu.:75.00 1st Gu.: 8.00
5 AACATORGEE <~ NEE 10 (4a:DA (AABATOTEEA}, ksh; QAEATOMRE) Vedien : 47.65 Mediam :224.5  Medien ; 9.700 Medien 181.00 Median :15.00
S WEmASEY (aita) Vean ¢ 47.65 Mean  :214.8  Mean 9.765 Mean  179.63 ean  :15.60
32d Qu.: 51.50  3zd Qu.:264.0  3zd Qu.:11.500  3zd Qu.:86.00 3a Gu.:23.75
Ozone Terp Honth Max. :168.00 Max. :334.0 Max. $20.700 Max. :97.00 Max. :31.00
: 8.0 :57.00 y
.0 75.00 <- median (data$Ozone)
.S 81.00
.9 79.78 m e
.0 86.00 :
o 5700 $ t (nedian_befors - median_after)

11 -10.€5217

<- median (datasOzone)

(1) 49.08403

> print(median before - median after)
1) -10.08403
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HE : 14.89663 A : 34 53803
e : naomit() 22 ARUMA £ quantileO) B2 gy oy omit( )02 222 A £, quantile() B4E
235 20!l T3 L5t ' P ’ _ R
CIBH0f Ozone B0 FH#t A1 (02 TR al2)= 9 oy g 510f 00ne 201 chet A2l (08 7L, al2)E 319
25%2] 2£(18), ql4lE &%l 25%2] 2£(62)0|H, ifelse( )2 25%9| 7H(18), ql4]= A2| 25%9| 7f(62)0|H, ifelse( )2
_H':F UE OH=EShE Ozone F=2 022 CHASHCE CHA|E STt ZHS OFESHS Ozone SH2S 092 CH|3IC CH|=
HOIEMES 0|2 510 B + BZ M3

HIO|E{MEZ 0|85 Y + BEHA} =
- 7+ = 24510 _
mean(data$Ozone) + sd(data$Ozone) 2tS SHBCL. mean(data$Ozone) + sd(data$Ozone) 2f= £ (34.53803)
> data <- na.omit(airquality)

ol

> summary (data) 3
: efct.
Min. : 1.0 Min.,  :
1st Qu.: 18.0 a0 > data <- na.omit(airguality)
Median : 31.0 Median summary (daca)
Mean : 42.1 Mean Ozens
3rd Qu.: 6€2.0 3rd Qu.:84. 50 3rd Qu.:22. 50 Hin.
Max.  :168.0 Max. :20.70 Max. :97.00 Max. :9.000 Max.  :31.00 1st Qu.:
S Median :
> q <- quantile(data$Ozone) Mean
>aq 3rd Qu.:
0% 25% 50% 75% 100% Max. 168
1 18 31 62 168 >
> stx(q) > d <= qu
Named num [1:5] 1 18 31 62 168 > a
- attr(*, "names")= chr [1:5] "O%" "25%" "SO¥" "7Sy" ... 0% 25% 503 75% 100%
> 1 18 31 62 1es
> data$Ozone <- ifelse(data$Ozone >= q[3] | .
+ datasOzone <= gf21, > str(q)
+ 0, data$Ozone) Named num [1:5] 1 18 31 62 162
> - attI(f, "names")= chr [1:5] "O%" "258" "SORT "TSET ...
> summary (data) >
Ozone Solazr.R Wind 1se(datasozone >= ql4
.000 Min. : 7.0 Min. : 2.30 + .
<000 1lst Qu.:113.5  lst Qu.: 7.40 +
.000 Median :207.0 Median : 9.70
072 Mean :184.8 Mean : 9.94 > summazy (data)
000  3rd Qu.:255.5 3rd Qu.:11.50 Ozone solar.®R Day
Max. :334.0 Max. :20.70 Min. :0.00 Min. : 7.0 Min. : 1.00
1sc Qu.: 0.00  1st Qu.:113.5 1st Qu.: 9.00
.00 Mzdian : 0.00 Median :207.0 Median :16.00
.00 Mean  :15.83  Mean Mean  :15.55
.00 37 0u.130.50  3rd Qu.:285.5 22,
.95 Max. :61.00 Mam. :334.0 Max.  :31.00
.50
00 (mean(dataSOzone) + sd(datafOzone))
> print (mean(data$Ozone) + sd(data$Ozone)) [1] 34.53803

[1] 14.89663
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> m <- mean(datal§total bedrooms)
m

[1] 543.2013

>

> n <- sd(datal$total_bedrooms)

[1] 433.9254

>

> Low <- m - n*l1.5

> L

[1] -107.6868

> Upper <- m + n*1.5

> Upper

[1] 1194.089

>

> result <- datal$total bedrooms >= Upper | datal$total bedrooms <=

> result
[1] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
[16] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
[31] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
[46] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
[61] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
[76] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE

> outlier <- datalStotal bedrooms[result]

> outlier

[1] 2477 1331 1270 1414 1603 1914 1196 1750 1344 2048 1212 1744 2408 1249 2885
[19] 2045 1308 1526 1326 1279 1207 1439 2031 1253 1516 1374 1273 2993 2708 1407

[=]
Sl : datal9| total_bedrooms &=2| B (m)2

hﬂ
AN
rd
S
@

F 2| T stekf 0[5kl 2t

0422 42| (result) 5t B (mean(outlier)) =

Low

FALSE
FALSE
FALSE
FALSE
FALSE
FALSE

[37] 1492 1294 1823 1247 1375 2098 1540 1207 1249 3864 1588 1373 1390 1576 1207 1294
[55] 1510 2220 3493 1217 2210 1921 1578 1785 1860 3298 1375 1355 1559 1475 1288 1204
[73] 2252 1646 1284 1404 1882 1639 1534 1691 1839 1213 1603 2558 1269 1422 1685 1590
[91] 1657 2826 1439 1364 1248 1424 1359 1556 1276 2546 1355 1611 2275 1426 1335 1717
[109] 1578 1250 1210 1551 1670 1384 1201 1200 1200 1439 1330 1346 2401 1429 1486 2244
[127] 2139 2685 1489 2141 1901 1455 1994 1369 1517 1597 1453 1600 1257 1482 1692 1657
[145] 1514 1653 1480 1286 1443 2139 1664 1872 1653 1506 2355 1525 2387 1209 1464 1537
[163] 1768 2193 1767 1369 2814 1209 1293 1527 1283 1611 2007 1271 1477 1214 1594 1477
[181] 1358 1737 1826 1849 1304 1317 2560 1869 4183 2691 1345 1412 1994 1976 4457 1995

> print (mean (outlier))
1] 1795.81

> boxplot (datal$total bedrooms)
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’éi'é.*: O|MZ|E9| Ht = 1730.48

S : Z=2|E A2t total_bedrooms2| St
(medlan) 4350|Ct, A&ghe SYUL= UAst = 01
datalOf| 2 2SICt datalQ| total_bedrooms SH=2| Hit
(m=536.8389) 2 M2} (n=419. 3919) S FL5t1 O| A2t
THH S 2|5t 515HgH (Low = —92. 24896) 1 AF5tZf
(Upper =1165. 927) & &2|5tCt, 45tgk Ol4 Ol
0|52l &S 0|22 2 (result) 510 Bt

(mean (outlier) =1730. 48) 2 2% SIC}, boxplot( ) S4E

sferat

015101 B2 2S0| 0|4ZS 22O SHolsict,

=\

rint (mean in:r't_m_E”] )

[1] 1730.48

> boxplot (datalitotal bedrooms)
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